. e .
= SR = & @ T i 7 2 % 4 75 0 7 T 4 PAGE. .
3% 2 H 58 (&R B [N i = - & (HEHR A O AHEREYEY ST)
won ERER o h s Il E T e e F % w2 o
KR & 221 210 300 910 2.00 432
£ 1% 30 330 330 11.00 702
(&H) 251 , 540 300 , 240
MEG HE 30 300 300 10. 00 1,188
() 30 300 300
EEAE B 330 , 300 , 300 10. 00 648
FER 159 1,590 , 590 10. 00 1,642
SR 20 200 200 10. 00 940
(FH) 509 , 090 , 590 , 500
SHAR = 24 140 140 5.00 1,188
GD 24 140 140
=F4 B3 112 , 680 750 930 15. 00 680
EH 6 90 90 15. 00 972
i 1Ly 147 2,205 2,205 15. 00 778
Jiga = 250 3,750 3,750 15. 00 788
(&M 515 7,725 750 6,975
¥y Y F Al 50 500 500 10. 00
Ft & 1 20 20 20. 00
(81) 51 520 520
FEoNAE EE 1,335 534 534 .40 141
e 50 200 200 4.00 , 620
& 90 18 18 .20 65
(&M 1,475 752 534 218
5H & 1,120 193 105 88 .10 151
pagic 10 50 50 5.00 ,212
(81) 1,130 243 105 138
¥ N 81 5 5 .04 486
=] 120 12 12 .10 108
(&H) 201 17 17
=k B 35 125 125 3.00 . 916
b [FH 10 30 30 3.00 . 480
(D) 45 155 155
5 =2 3,100 310 310 .10 76




== He
+ H e 5 = & O WM SHETS  PAGE. .
% % TEEW e 2 ) LTl . _ F 9 B3 R "
(E1) 3,100 310 310
= v iE KB 48 67 67 1.40 756 432
Zh) 48 67 67
F=¥<) e 477 143 143 .30 113
(zH) 477 143 143
IKE EH 520 196 184 12 .20 63 119
18 I 300 60 60 .20 92 70
(81 820 256 184 72
A= L& 897 359 359 .40 124
(51) 897 359 359
B e 415 166 166 .40 167
= 200 40 40 .20 103 81
(E1) 615 206 166 40
FoHF U BN 10 20 20 2.00 1,080
() 10 20 20
HMEXSE LU0 80 8 8 .10 108
e 40 4 4 .10 108
(51 120 12 12
a0 EE 15 30 30 2.00 1,296 1, 242
B 310 234 234 .30 2,592 , 484
=4 75 30 30 .40 189
(H 400 294 294
k< b Vi 140 560 560 4. 00 972 756
REAR 105 420 276 144 4. 00 842 972 756
(D) 245 980 276 704
HA T = 164 850 850 5.00 2,916
(35 164 850 850
MIEH 2 AF T 186 , 860 , 860 10. 00 1,620 864
(FH) 186 , 860 , 860
B - = & 3, 000 402 402 .13 113 108
(1) 3, 000 402 402
VN =% 90 9 9 .10 130
(zh) 90 0 9




T # &= H o Bk ok W E&F F (X

B % FEEM i %’J&( A §§ el E *Bﬂ%;(%l resg g - ﬁt‘ D h H&’ﬁﬁ%l _ o ﬁ_i(-{]J ﬁl_ijﬁi@%l .
A7z A 120 12 12 .10 103
(1) 120 12 12
EHE BERE 10 10 10 1.00 864
(&1 10 10 10
HiE K 88 440 440 5.00 1, 361
e 86 430 430 5.00 1,674 540
(1) 174 870 440 430
EHE ks E 99 990 990 10. 00 2,484 1, 296
(&H) 99 990 990
A= 4 v dbiE&E 739 8,770 1, 560 7,210 10. 00 2,549 2, 041 2,268
(81) 739 8,770 1, 560 7,210
BF =y 3 30 30 10. 00 1,728
(81 3 30 30
¥ b 30 300 200 100 10. 00 3,175 3,564
GH 30 300 200 100
% RG] 999 19, 180 19,180 | 10.00 1,674 972
GH 999 19, 180 19,180
IZAT K o [ 50 50 50 1.00 270
(GH) 50 50 50
1) — B% i 2 20 20 10. 00 3, 780
Lo Jd 12 14 14 1. 20 43
(§H) 14 34 14 20
Taryal BH 11 66 66 6. 00 2,074
e 18 108 108 6. 00 2,052 1, 944
=l 9 54 54 6. 00 2,808 2, 300
E % 15 90 90 6. 00 1, 944 1, 655
HER 5 30 30 6. 00 1. 944
(D 58 348 348
L Z A = 8 80 80 10. 00 1,944
18 5 25 25 5.00 1, 080 756
GBH 13 105 105
Y=L F A B 10 50 50 5.00 1, 296 1, 080
(8h) 10 50 50

JE I 77 2 5% b 75 1 72 T 45 PAGE. .




3 = = H 3
F # &% H Bk 5 W & = (¥ 3) R PAGE.
an % T Hh i %5{ 7 B %ﬁ( Y é *Eﬁﬁgé’l SR 5 L'Eﬁ ) o EX@%I = - &B )ﬁm HX@%! _—
Rt Y | 2 10 10 5.00 6,480 4,320
(Gh) 2 10 10
I= kv bk AL 249 66 66 .20 1, 836 1,620
RER 45 135 1356 3.00 1,566 1,404
(GH) 294 201 201
Hofth 32 R 20 1 1 .05 119
(Bh) 20 1 1
TH%E = A 993 93 93 .08 3,456
mafEs| 4 16 16 4.00 1,728 1, 296
(&) 997 109 109
RE =gt 40 4 4 .10 356
(1) 40 4 4
HE| WE 220 11 11 .05 32
(GH) 220 11 11
Aoy = 225 23 23 .10 97
(1) 225 23 23
EXEY wWHE 110 6 6 .05 59
=" 50 5 5 .10 65
i Al 60 6 6 .10 63
(81) 220 17 17
EME Pasy 5] 1, 080 141 141 .10 140 108
ALEK LU 250 40 40 .10 205
GH 1, 330 181 181
¥z £¥ 110 15 15 .10 76 71
GH 110 15 15
BE =84 1, 3560 270 180 90 .20 77 76 66
GH) 1, 350 270 180 90
LU =¥ 1,730 232 70 162 .10 68 113
(GH) 1, 730 232 70 162
vy va i Ll 150 11 11 .07 86
(GH) 150 11 11
HtwsE RF 150 17 17 S 11 50
= 20 4 4 .20 135




- @m0 = . T %
= 2 & B ok = &5 & X BT ABMB TS PAGE. .
o TEED Bk =R E ka7 B seny py = & "™ = @ g TP’ o
(1) 170 21 21
L L Iz B2 121 34 34 . 25 486
K4 780 156 156 .20 35 33
(EH) 901 190 190
MILEHE $E 60 21 21 . 356
(8 60 21 21
By FIFE BEE 160 40 40 . 25
(5 160 40 40

162

65




T E & H Bk 7= W 5 (BR=E) 5 A B A 4 PAGE. |
th

3FE 2 A 5 H (&¥H) HR AR 2L ko i i - PE - BE GHER RO GHEREYEE S L)
oA R (] ﬁg{ e % =Y TE *E**EZF;' HERH BEH = fr%;‘i ’ qiﬁzﬁ‘égl (& = éﬁa WITHX(E-‘%I 7 {E
EBH A L 241 2,410 2,410 10. 00 3,024 864
(8h) 241 2,410 2,410
Kophy BB 41 410 410 10. 00 1,836
ER B 39 390 390 10. 00 3, 348 1,620
GH) 80 800 800
Ny 7 F—2RFF 13 221 221 17.00 4,536 3,348
(1) 13 221 221
FX—7n LB 1 8 8 8.00 1,080
= 63 630 630 10. 00 1,728 1,296
G) 64 638 638
3T 4 FiE 203 2,030 2,030 10. 00 3, 348 2,160
(&H) 203 2,030 2,030
J\YRHH = 116 1,160 1,160 | 10.00 2.484 2.160
(81) 116 1,160 1,160
=l & Al 19 190 190 10. 00 2,160 1,620
G 19 190 190
S IR E 165 165 165 1.00 270 162
() 165 165 165
F o hE 27 135 135 5.00 1,620 1, 404
(&H) 27 135 135
S —FF TAUH 3 51 51 17.00 5,616 5,076
(&) 3 51 51
LE Yy TAY 4 68 68 17.00 6, 480 5, 940
(D) 4 68 68
prhy R 18 90 90 5. 00 2,700 2,160
(1) 18 90 90
& & A hE 99 495 495 5.00 2,376 1,296
(&H) 99 495 4195
HF iR 1 5 5 5.00 4,428
(D) 1 5 5
Tara HE 10 100 100 10. 00 3,132
(1) 10 100 100
B+ 57 71 710 710 | 10.00 3,996 2,970




. L @ e
F E 5 H o Kk & @ F F (%) T PAGE.
oo EREL {H % o ﬁe{ i 1’?? miﬁfp! HEHEEH S =4 ffg ’ LJ:JHXﬁEE}I i (& 2 ; ﬂmmff;l 2
FH 267 2,670 2,670 10. 00 2,160 1,944
(8H) 338 3, 380 3, 380
B2 HR 51 510 510 10. 00 1,944 1,728
(8H) 51 510 510
= 5 380 95 95 .25 421 270
) 720 216 216 .30 605 443
=) 5 2 2 .45 1,080
1 170 46 46 .27 551 324
1 40 10 10 .24 367
Vi 140 38 38 .27 551
E % 100 25 25 .25 410 378
E % 42 13 13 . 30 551
[N 1,114 279 279 .25 389 270
= 170 51 51 .30 551
(D) 2, 881 775 775
NFF T4 4 52 52 13. 00 3,564 2, 430
T4 2 36 36 18. 00 3, 456
TIT R 27 486 486 18. 00 2,279 2,273
(&) 33 574 574
7R K A% a 42 252 252 6. 00 2,376 1,296
(&) 42 252 252
HRE TAYH 1 17 17 17.00 4,320
(&) 1 17 17
MTREHE HE 5 13 13 2. 60 2,376
i E 3 14 14 4.80 4,277
() 8 27 27




